

Apartment in Zebbug



Zebbug, Central



€255,000

Reference No: 240461048-592

 Total Rooms: 4

 Floor Area (m²) : 61

 Bathrooms: 1

 Bedrooms: 1

Apartment - For Sale - Zebbug

Zebbug - Apartment - Located in the heart of Malta, close to all everyday amenities served with lift. This third-floor apartment features an open-plan kitchen, dining, and living area, a double bedroom, a study that can be converted into a second bedroom, and a bathroom. It also includes a front balcony and two back balconies. The apartment is being sold in shell form, with common areas completed. Expected completion is by the end of 2026. For more information, contact your preferred RE/MAX agent.

Features

- ✓ Lift
- ✓ Balcony

Rooms

- ✓ Kitchen/Living/Dining : 8.57 x 3.72 m (31.88 m²)
- ✓ Double Bedroom : 2.58 x 3.12 m (8.05 m²)
- ✓ Office / Study : 4.16 x 2.59 m (10.77 m²)
- ✓ Bathroom : 2.59 x 1.35 m (3.5 m²)
- ✓ Hallway : 2.7 x 1.01 m (2.73 m²)
- ✓ Open Space : 0.98 x 0.82 m (0.8 m²)
- ✓ Open Space : 1.78 x 0.82 m (1.46 m²)
- ✓ Open Space : 2.3 x 0.82 m (1.89 m²)

Gallery





Josianne Camilleri

RE/MAX Professionals - Mosta

M: 79050767

E: jcamilleri@remax.com.mt

T: 27998977

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta